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(For Scheme I & Scheme II Candidates) 

Second Year Higher Secondary Examination 
Part- Ill 

BUSINESS STUDIES 
Maximum : 80 Scores 

Genera/Instructions to Candidates : 

Time : 2% Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2v2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time'. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
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1. The environment consists of 
components such as beliefs, 
traditions, etc. is known as ___ _ 
environment. 

a) Legal 

b) Economic 

c) Political 

d) Social 

2. Foreman is an example of 
____ level management. 

a) Top 

b) Middle 

c) Lower 

d) Executive 

(1) 

(1) 

3. are the prescribed 
guidelines for conducting an action. 

a) Rules 

b) Methods 

c) Budgets 

d) Programmes (1) 

4. Ability of a leader to look things from 
others point of view is 

a) Empathy 

b) Sympathy 

c) Responsibility 

d) Apathy (1) 
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1 . oJl cro J8CTU6m cJO, nJ JffiffiJ (() jo mJ, ®e.J JCQJ OJ 

~ cJO 6) ~ S6 em nJ ffi1 ® mill1 ®1 w o 6m" 

a) m1wmnJffio 

b) cruocruamD1cfuo 

C) ffiJl~Cillo 

d) cruom~o..Olcfuo 

2. '<Zn.nommodO' 63ffi6 ffile.J 

mo<Zmgi6)mr@m ~BJn.0(()6ffiQ)J6'fl). 

a) Top 

b) Middle 

c) Lower 

d) Executive 

(1) 

(1) 

3. 63ffi6 LnJOJ~amD1 6)..!2J ~6crn®1 m6~ 
lnJ <Z ® J cfu Q) J ro <& m1 ro <Z <3 (I() 6m3~ J 6TDV 

a) Rules 

b) Methods 

c) Budgets 

d) Programmes (1) 

4. f1l6)8JffiJ§l6)~ cfuJ~..!Ll~oSlam cfu8ffij6mcJO 

oJ'lcfu9:l'ldX))6(ffi@l6)ffiCQJ06'fl) -­

OB)(ffi6 nJOW6crn®. 

a) Empathy 

b) Sympathy 

c) Responsibility 

d) Apathy (1) 
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5. Identify the communication network 
in the following diagram. 

5. ®J6)1:9CQ)6~ ..!l.JJro§l6)8.l m@>(f{)CQ) 

oJ1m1mCQ) roi®1 om®? 

I Marketing Manager! f-----~1 Branch Manager I ~< -~>I Marketing Manager If-< --7) I Sales Manager I 

a) Wheel pattern 

b) Chain pattern 

c) Circle pattern 

d) Ladder pattern (1) 

6. EPS stands for 

a) Equity Per Share 

b) Earning Per Share 

c) Equity Pro Share 

d) Earning Pro Share (1) 

7. Time utility is created by 

a) Packaging 

b) Warehousing 

c) Physical distribution 

d) Promotion (1) 

8. Which of the following is not a 
consumer right? 
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a) Right to safety 

b) Right to education 

c) Right to choose 

d) Right to get goods at lower cos~ 
(1) 

a) Wheel pattern 

b) Chain pattern 

c) Circle pattern 

d) Ladder pattern (1) 

6. EPS omrm® __ _ 

a) Equity Per Share 

b) Earning Per Share 

c) Equity Pro Share 

d) Earning Pro Share (1) 

7. <mm(Q) ~n.JCQ)6d1®® cru~~c006rm® 
---m@)6'11), 

a) Packaging 

b) Warehousing 

c) Physical distribution 

d) Promotion (1) 

8. ®J 6)1:9 n.J OCQJ 6 em ru CQ)l ~ ~n.J <Us Jdt®~ 

ffi'roOJcfuJ(f{)o mmgpcom® om®? 

a) cru6rocfh91l®com.J(<m5)1m~ m-roOJcfuJ(f{)o 

b) oJ1Bj8c5jJ<mcom1m6~ ffimOJc£bJ(f{)o 

C) 6)®6)ffi6)6"f'lf®S6cOOJm~ ffimOJcfuJ(f{)o 

d) cfu606"f'lf® oJ1BJc:S€) <mJWffi60T3cfD 

cfu1§8ffi6~ ffimOJcfuJ(f{)o (1) 



9. 'Govt. has decided to increase 

foreign direct investment in 

insurance sector'. Which area of 

business environment is mentioned 

in the above decision? Explain. (3) 

10. 'Management and administration are 

one and same'. 

Do you agree with this statement ? 

Give other views between them. (4) 

11. What do you mean by 'planning 

premises'? (3) 

12. Smt. Seema is a Principal of a 

Higher Secondary School. She 

decides to give some of her charges 

to Vice-Principal Smt. Beena. Which 

function of management is used 

here? Explain. (3) 

13. Yasir is a newly appointed manager 

of Moon Ltd. He is of the view that 

training will increase productivity of 

his employees in the organisation. 

Do you agree with his views? Give 

the importance of training. (5) 
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9. '@2aDn91J,OCIDm5' ~m6lJe.Jcw100 ~mffi1§6~ 
oJl ~ B CfO m1 ~ dhl1 oJ o cfuJ§6 rm ®1 mu 
(f)ClJsri061al~u ®lffiJ,alOffi1-3:J6' 0 @2"0 

l oJ OJ?O ClJ m mflffi1, cruJ..!2..ll t;t:jlogJ1§6~ ®u 
6D..Jlm5lmcm161~ nffi®J oJcn1®mlD1®1 
cwo6'TT) ? oJlrucn1cOOJ,cfuo (3) 

10. 'mo~mgri61mf@o mroru5'm1m1~l~nS1mJ,o 

63(ffi2, @6)(ffiCDJ06ffi '0 

m160Bcf0 @2'D loJ~orum~cwosu 
~CDJOWcOOJ,rmJ,~ruo ? @2ClJ ®o:m1e.JJ,~ 
alA:?, cfuOtf'_I2_l<J:jOSJ,cfucfO nffi61®~0o ? (4) 

11 . 'g.dOrrSloCJ5LcJlilllcrum)' %)rmo00 rrSl615Bcm 
o.ffimDOm) mro<OcloomocOOJ,rm® ? (3) 

12. §"lm®1 cruim 63cn6 oncwro 6)ffi.)c:B€)6fr5o1 
ffi.)u cBi)) J ~161 ~ l oJl em cru1 <J:j afO ®]) 6ffiu 0 
®61~ mrou51 ce:,ocn615B~ afO .!2ll eJ ®' 6161ClJmJ 
l oJl em cru1 c;:d eJ o cw § "l m ®10 mil m c00u 

mafOcfuJ, ClJOcYO ®0 QJ ffi ®l ffiJ,alOffi1-3:J6o 
mo~mgrJ'6Jm\@61~ nffi®6 wroo:mmo6ffi 
@2ClJ161s ~oJ~cwou5l-eJ®? ru1rucn1c:B€)J,cfuo 

(3) 

13. alJsriO e.J1m1R<W161e.J oJJ,®J,®ocw1 
m1 cw m1 ® mocw mo <&m gt;l cno 6ffi cwocru1 ro 0 
l s m5l m1 0 (f)u (()) 6) ~ cruD 0 oJ m (l)'Ym161 eJ 

61®0~e.JOglcfu~61S ~OBmo ruffiBJJ1 
~c006 6Jm(I'T') ®0<&\3oDo oJl CfO .J(T15l cOO.!, rmJ,o 
m1 60B em mro <&\3oD (l)'lm16J~ @2"0 ®Q)CfO w 
<&(l)'Ymos <&WOWcOOJ,rmJ,C8ruo ? 
LScWlffi1o(f)161~ alR LoJOWCiffij60BcfO 
%)19J,®J,cfuo (5) 
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14. Which method of wage payment is 

preferred in the following situations? 

a) When job requires high degree 

of skill 

b) VVhen quality is more important 

c ·1 When methods of production are 

standardised 

d) When output is easily measured. (2) 

15. 'Delegation and Decentralization are 

one and same'. 

Do you agree with this statement ? 

Give any 4 differences. (4) 

16. Amal is the newly elected leader of 

Seven Hills School. Suggest the 

qualities he should have to become 

a good leader. (5) 

17. Prepare a seminar paper in 'Steps 

in Control Process'. (4) 

18. What do you mean by 'Marketing 

Research'? (2) 

19. ABC Ltd. introduces a new product 

having no close substitute in the 

market. Which type of pricing is 

suitable to this product? Explain. (3) 
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14. (IDJ 6)\j' oJ 0 CQ)6 (ffi ffi)JoD..!lJ al J 6(ffi cfDGOOu 

mwm6<ECQJ0@6jffiOW cgrucmm OJjOJC'Q? 
cinc!D Offi@® m) ntj) 196 ®6 cfu. 

a) When job requires high degree 
of skill 

b) When quality is more important 

c) When methods of production are 
standardised 

d) When output is easily measured. (2) 

15. 'm1<Ewom1cOOeJ6o oJl<EcinLffi"lcina>6ffiOJ6o 
63(ffi6 @6)(ffiCQ)J6ffiu) • 

m16m3c!D gQ'D LnJCQ?OOJm<Ewos <EWO~ 
c006(ffi2,<80JJ ? mru ®Ql1l1eJc?,~ 4 
0Jj®j0m>6"6'Bc!D nffil96®2,cfu. (4) 

16. @m>rucm on1amcruu <TDGOOJgl@eJ nJc?,®6 
cmocilll 6)®6)ffi6)6T"O'lmS6cOO@<J:j§ eJlQOOo6TT) 

rowmam. 63ffiJ, ffiJ®~cfuJ e.flcwOJcfu 
6ffi6) Q) Efu 1 am ffiWCQ)J c!DcOO' cm"l CO..g,d CQ):) We!, 0 

~ 61YSJ<8cfu6fr5 Cf)c?, 6ffi 6m3 cfD nffi 6)®~ Jo ? 
(5) 

17. m1 w L mD 6ffi L nJ L cin 1 w cin ~ 6) s 6) ffi1 <J:l6 
cfu6)§c006oleJ63ro6 6)m>m1moro <EnJ<J:]ffi 
®~JOJGOOJ,cfu. (4) 

18. morocOORJocr5 Olcruffi_gJ16)m cfuJ,01..g,du 
ml6m3c!D nffi('(()'X)6ll) o.Jlrucfu911c006onciD ? (2) 

19. ABC Ltd. LnJm>1cruJDnJm ClJCQ?J,cOOcfD 
gQ~OMQ) oJlnJ6TD1mJ1am 63ffiJ nJJ,MlW 
~am <J:l on o row ru em ro1 <Jdl c002, rmJ. mro 
~am<J:JrrnMW1m6 nJ81CQJ oJleJ rr5lro~w 
ro"lcm1cgw@? oJlruro1cOOJ,cin. (3) 



20. Kochumol purchased a Samsung 

Cell phone with one year warranty. 

Before the expiry period the phone 

get damaged. When she approached 

the shopkeeper he refused to 

replace or repair it. 

a) Is the act of shopkeeper is fair? 

b) Where should she lodge her 

complaint ? (3) 

21. 'Money market is a wholesale market 

and capital market is a retail market'. 

Do you agree with this statement ? 

Give another 5 differences between 

them. (5) 

22. Explain any 3 techniques of 

scientific management. (6) 

23. Match the following : 

A B 
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20. 6ic9:lJ-9J2,(gQ)JcJ0 63ffi2, ru&n.91o OJJOc@ 
cw2,~ 63C06 Samsung 6irruaf& (gn..OJ6'1'i3 
OJJ60T31o cfuJe.JJruw1 ®iro6on®1m6 
0)2, cTD n.J J cw1 (g n..O J 6'1'iD (g cS:lSJ cWlo c9:lScfr6)J 
ro 6! m cru m "1 n.Jl-9,d (g c;.tj J cJO (g n..0 J 6'1'iD m J o1 

maf&cm2,on®6o o1~cw& 61.!2J~on®6o 

rrSl ffim.5l-3J!, 0 

a) g)20J16)S cfuScfr6)J(l)6)cfq Ln.J~CIT®1 

w co1 cw J G 6""": :J s 

b) gQ®16Jm:-5)"16J:J c~nr~c~ ffi®COcfr6)Jorr)' 

n.J (l) J Ml cfu ~I C"; CD 3 :6J 6"5 ©' ? ( 3) 

21 . 'n.J 6TD o..Jl n.J 6'11:~ 63 ffic!, 6) Q):) CIT® o..Jl am n.J m 

c9:l(gffiJJ§ClJ6o m~e.Jwm o..Jln.J6TD1 63ffi6 
..2..ll ~p o ... n m'b n.J m cfu(g cru o §. ru6 m o 6TDU ' 0 

m160T3cf0 ~ro Ln.JClJ{JOJm(gCWJs (g(Q)J~1 
cfr6)6 (ffic!, (g OJ J ? 
~ru ®am1e.J6~ m8 5 OJj®jJrru60T3cJ0 
mm'bce:,6ce:,o (5) 

22. Cf()JlCI~~ CQ) Q)J(gffi~u6)Q)c@6)~ nffi6J® 

ffi:>1e.J2,o 3 6isc&'m1cfr6)2,cfuci0 oJlruco1cfr6)2,cfuo 

(6) 
23. (g.!2Jffi2,on.Js1 (g.!2JC0cfr6)2,cfu : 

A B 

i) Bonus shares (a) RBI i) Bonus shares (a) RBI 

ii) Dematerialisation (b) Speculator ii) Dematerialisation (b) Speculator 

iii) Bear (c) Market iii) Bear (c) Market 
Regulator Regulator 

iv) SEBI (d) DEMAT Ale iv) SEBI (d) DEMAT Ale 
(e) Scrip (e) Scrip 

Dividend (4) Dividend (4) 

3048 -6-



111111111111111111111111111111 

24. a) After completing his MBA in 

marketing Mr. Johnson joined in 

a new multinational as 

Marketing Manager. He called a 

meeting of his su inate 

marketing executives soon after 

his appointment. He wishes to 

deliver a talk in functions of 

marketing. What points he should 

include in his talk? (8) 

OR 
b) The amount spent on advertising 

is a national waste'. 

I) Do you agree with this 

statement? 

II) Give merits and demerits of 

advertisement (8) 

25. a) 'It is a composition of owner, 

3048 

equity and de in the 

capitalisation'. 

I) Identify the ;::lt)(-l\/A 

II) Explain thc1 

determining its 

OR 

b) I) What is dividend? 

II) What are the factor, affecting 

dividend decision ? (8) 

24. a) ®6)~ MBA CL!~f60'®1W:::>ce€)1CW®1 

m 6 ~ m o.S1 o m1. ~ gl6 o 6l'fO cru 6l'fO 63 ro 6 
<Ll6 ®1m> 6l1J o.D 6 ro :::> l ~ cfblTlJ m1 cW1 am 
moffice€)R1ow mo~mgl6roo<W1 <Eg16:::>eJl 
m!lam Lo.J<Erum1-:3J6· ~sao ®6)rm 
(ffi'O w o em ® 6) ~ cru e2 GDJ o cw1 e2 m R" 
moroce€)R1ow O{Dm1cili~iCl.J6cfu§!,6)S 
63ffi6 miR1o(f)" ollgl-:3JJ,. m:::>roce€)R1o 
cr5l6)~ w&am06B6)§. cfu6o1-:3J" 63ro6 
L CLl cru o Cf) o m s 0'® o em (ffi'O <2 <3 o.D o 
ffi'@l(f)o.D1c£hl16rffi2,. 0436)®~80 ffi)~..!2J 
mcfucm 1 w&am06Bcm (ffi'0<2(3n.Oo ®6X~ 
lCLlffi)o(f)(1ffil)l((ffi ~ciD6)<;tjS60'®6ffio ? (8) 

OR 
b) 'CL!rocruJCO'®lm6<EOJ6'!"@1.!2.1le.~ruoce€)6rm 

®6cfu 63(()2, <2BWiCW 0Jj<:Wffi86ffi" '. 

I) m106Bcm ~'D lCL!CQ?OOJffi<ECWOS 
<2W8Wce€)J,rffi2,<20JO ? 

II ) CLl rorru jffiT651 6)~ ({)6 om6013 §!, o 
~BOo.S16lffi§So O{J)I:l'2,®6cfu. (8) 

25. a) 'mJeJWmOJffi'Od:76)room0'®16)eJ 
~smcruo ~cfu]R1Wc?,O ruo~w6o 
®o::ill1e.JJ,~ ()'1)ffu(()Q)CJ6ffi1®.' 

I) ~® o.ffi®16)~ m1&ru..!2.lm 
mo6l61nm) @1ro1-9Jo1m>J,cfu. 

II ) g}2 @16)~ roJ/tJ'l cfu ro 6ffi6)0'® m1 & 
~m>1ce€)6rm o.e.~scfu60Bcm oJlru 
ffiic£Hi)2,cfu. (8) 

OR 

b) I) ru5l oJl ewe@' o.fj)ITnOaffi otJ)mnu ? 

I I) Ctl~oJlcuK'@' ®iffi6t1\0ffi6)0'® 
ti'(}J::Jll~cf)6)6rm o.e.~scfu60Bcm 
o4)6)('®~0o ? (8) 
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